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X 4 CsoE)|(k &) AREE 29 BT B30 BT B3 14 BT 532 4 B Ak 334F BT Rk 34 4F & R 35 T R 36 S B -3 T4

1 #“ I = (A) 18,404 16,572 14,379| 18267 18267 18267 18,267 18,267| 18267 18267 18267 18,267

1) & E3 1y % (B) 3,986 4,203 4,061 4,266 4,266 4,266 4,266 4,266 4,266 4,266 4,266 4,266

1% 7 # & Iz A 3,986 4,203 4,061 4,266 4,266 4,266 4,266 4,266 4,266 4,266 4,266 4,266
ﬁ 4 %= ® I % W & ©
IR 'rb z ) fth

RIAL(2 & % 5 1] | 14418 12,369 10,318| 14,001 14,001 14,001 14,001 14,001 14,001 14,001 14,001 14,001

7 oM o= EH OB A =2 14,417 12,368 10,317 14,000 14,000 14,000 14,000 14,000 14,000 14,000 14,000 14,000

2 1 Z %) f i i i i i i 1 i 1 1 1 1

. 2 = A (D) 11,860 11,205] 11,868 11,793 11,478 11,316 11,151 10,982 10,811 10,636/ 10,458| 10,276

1) & £ & H 8,475 7,970 8,765 8,770 8,770 8,770 8,770 8,770 8,770 8,770 8,770 8,770
U | 4= 7 B g8 #a 5 &
E 5> &5 B B F %

% |(#g 14 % ) fth 8,475 7,970 8,770 8,770 8,770 8,770 8,770 8,770 8,770 8,770 8,770 8,770
X[ (@ = ES Ay & =5 3,385 3,235 3,103 3,023 2,708 2,546 2,381 2,212 2,041 1,866 1,688 1,506
H 7 X h Fl 2 3,325 3,175 3,103 3,023 2,708 2,546 2,381 2,212 2,041 1,866 1,688 1,506

56 —BEASHA
1 % ) fth 60 60
3 v % = 5l (A)-(D) (E) 6,544 5,367 2,511 6,474 6,789 6,951 7,116 7,285 7,456 7,631 7,809 7,991
1 = N 5] I A (F) 2,583 2,632 2,683 2,735 2,788 2,841 2,896 2,951 3,009 3,067 3,127 3,187
(1) tn Vil &
& 5 5 &8 X & F # & f&
| (2) o = H H B & 2,583 2,632 2,683 2,735 2,788 2,841 2,896 2,951 3,009 3,067 3,127 3,187
- Bl (3) fh = &t & A &
W@ B ® &8 B = &N K %
£ MG B (B B mE) BB =
(6) T =S =l i &
3] (7) * D fth
2 & N By 53 H (@) 7,773 7,923 8,076 8,231 8,390 8,552 8,717 8,886 9,057 9,232 9,410 9,592

Rlalm = £ & B B

% | & 5> 5 B B8 B 5 &

B (2) Vl & 18 P £ (H) 7,773 7,923 8,076 8,231 8,390 8,552 8,717 8,886 9,057 9,232 9,410 9,592
X[@) Mt RERHBEASEEE S
7@ #® = o ~ O & & 2%

(5) % o) th

3 Iy &% £ 5l (F)-(G) M| A5190| A5291| A 5393 A5496 A5602] A5711] A 5821 A 5935 A 6048 A 6,165 A 6283 A 6405
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X 4 CsoE)|(k &) AREE FR295F BT 304 B A3 1 5 8T Rk 32 5 8T AR 33 4F BT Al 34 48 & Ak 35 5 S R 36 4 BT R 374
I % B = 5l (E)+D J) 1,354 76| A 2,882 978 1,187 1,240 1,295 1,350 1,408 1,466 1,526 1,586
& 3L % (K)
BIEENMNSDREE (L) 5411 6,765 6,842
MEERETERS (M)
2 K IR * (D-K)+HL)—-(M)  (N) 6,765 6,841 3,960 978 1,187 1,240 1,295 1,350 1,408 1,466 1,526 1,586
EEEA~NRBY 8B I XN E B RO
£ B I X|E F (P) 6,765 6,841 3,960 978 1,187 1,240 1,295 1,350 1,408 1,466 1,526 1,586
(N)-(0) O F (Q)
IR 2% B UR 3% bk 2= ( (D()'i\gH) x100 ) 94 87 72 91 92 92 92 92 92 92 92 92

MAMBUERITREICRE1AICKYVEELS: R)
& & ) i )

x
EENRE -ZFEIEWRE B-0O) O 3,986 4,203 4,061 4,266 4,266 4,266 4,266 4,266 4,266 4,266 4,266 4,266

oA M B EICK D

BEILERITSEI6KICIVEELE ™
& % ) S ) £
BEibERTHRAE6EIZTIRET S )
R B o] fE B & &~ B %
BEILERITSEITRICIVEELE W)
E 3 ) iR B

BEfbEFERRICLYEELE

# & £ E w ow (N/(V)x100

h £ 5 B A & B 5 (W)
Hh Vil & 7% = (X)| 166,147| 158,224| 150,149 | 141,918 | 133527 | 124975 | 116,258 | 107,372 | 98315| 89,083 | 79,673 | 70,081
Oh=EtigAE (Bifr:FH)
3 £ BTREE| BEE ’ Q:F QEF Q:F Q:F QEF Q:F Q:F JQ:F Q
X N (kB oE) AREE 295 EF B304 BT AL 314 BT 532 4 B Ak 33 4F B Rk 34 4F & R 35 2 T R 36 S B j 374
I & M IR X 5 14,417 12,368 10,317 14,000 14,000 14,000 14,000 13,999 14,000 14,000 14,000 14,000
5 H ERNBE A2 8,515 8,466 8,416 9,963 9,910 9,857 9,802 9,746 9,689 9,631 9,571 9,511
56 HE E N B A2 5,902 3,902 1,901 4,037 4,090 4,143 4,198 4,253 4,311 4,369 4,429 4,489
EAMPRXH 2,583 2,632 2,683 2,735 2,788 2,841 2,896 2,952 3,009 3,067 3,127 3,187
5 H ERNBE AR 2,583 2,632 2,683 2,735 2,788 2,841 2,896 2,952 3,009 3,067 3,127 3,187

56 B £ 4 8B A&
& B 17,000]  15,000] 13,0000 16,735] 16,788] 16,841 16,896] 16,951 17,009 17,067] 17,127 17,187




